T 3 FRIABFFRBRA— b XSBHE R

SF3E10H 168 (£) TATZARER— IV
L—R | % L—y EEJ N
No | ma EEE NO I—% & IE 5 1% /100 3

2 HHEBEER (HiR) 6 | 4 | 57|45

75 3 EHRPEER (LAR) 2 | 4 |40 | 54

-I 10:00 1 X 4 AfEEH (1H) 4| 4 |43 09
R’ 5 EEHK (AHF) 1| 4 |38)|78

6 DEER (H5) 5 | 4 |43 49

7 ERER (BRH) 3| 4|42 33

2 KHEER () 3| 4 |11]091

Br 3 REER (5F) 2| 4|10 66

2 10:10 1 X 4 WEER (F2) 1|4 02|99
R 5 HFERER () 5| 4 |17/ 87

6 BHEEER (BUR) 6 | 4 | 24|96

7 T E R (GER) 4| 4 |12 97

2 BZHER 1] 4|19 23

=¥ 3 KB R 6 | 7 |26/ 13

3 10:20 2 X 4 I B 4 | 4|27 13
b4 5 i H 78 = 1 5 | 4 |46 | 97

6 PR B 3| 42570

7 B &R 2| 42330

2 I = 2 | 3|47 43

BF 3 DOTEER 4 | 3 | 5432

4 10:30 2 X 4 B 3|3 |52 08
b4 5 ABEB 1| 3|42 78

6 Ak E R 6 | 4 | 1187

7 K HER 5| 3 |55 52

2 K 8 = A 3| 4|04]869

=T 3 AFEFR 4 | 4|05 11

5 l0:a0 | AXF 4 1 R R 6 | 4 |46 00
N5 5 ABEBR 1] 40129

6 BEZ2 eI 5| 4|19 91

7 BRPRER 2 | 4 |03]|52

2 DEER 6 | 3|59 26

57 3 BERARTERK 2 | 3|32/ 27

6 l0:50 | A% 4 K H B 5 | 3 5140
N5 5 CREFSTE 1|3 |29 83

6 15 H Ok B i 3| 3[35]33

7 4 E iR 4 | 3|3 |77




